ESE ] 20224 (M4 %) ~20244F (HF16F) Fi5
ESE ] * * VAN AV B/ B/ L IOYAW IOYAW

—————————— & BBD- — X - |8 E k- | XF - | <¥E: - | - |8l E: - | - | ——<8E: -
0 £H 82,646 |£E 22473 | &EH 58.08 |£HE 33,660 |£E 42984 |[£[EFH 10,497 |£H 19,334 | £2H 23,163 |£E 20,912
138 92,200 |E#[ETH 27812 |f8B™™ 7799 |[#FTH 40564 | K:iEMH 53,964 |MFETH 14,204 | K:ETMH 24517 | KEH 27245 | K:ETH 25,002
2 $imm™ 91,422 |f@FH 27,653 |f@FH 77.82 3Rt 39,154 3Rt 52,113 |3 12,403 3Rt 23,764 3Rt 26,752 |3Eth 24,571
3B 90,075 |;E¥ATH 27437 |#hEBE™H 72.33 | KiETH 38,898 | XFrth 51,297 |F&RT 12327 |##F ™ 23,730 |[LETH 26,581 | XKBxth 23,998
4 fRREIRE 89,138 | HFrimth 27,341 |;EWTH 7047 | HEERTH 38,295 |FH#&RTH 49876 E=BTH 12,280 | KBrth 23644 |fHETH 26,360 |#LLTh 23,906
5|8 ET 88,394 |fH#E[ETH 26,772 |ElUmH 69.89 |[LB&TH 38,134 |&HET 49,176 |EUTH 12,180 | &2HEM 23,013 |[EUH 26,156 | ZR&ERTH 23,801
6 #MF™ 88,389 AR FmTH 26,484 |lLfzthH 6851 | KFrth 37597 |fHFT™H 48810 | KFrth 12141 |=B™ 23,009 |FE#RTH 25967 |[LBTH 23,203
7\ KEH 87,845 3Rt 26,242 &[T 67.73 |F1FxITH 37,190 |HHEETH 48,552 \F1FrUTH 12,010 |F0grlu 22853 |FETH 25,622 |[@LTH 23,149
8| KBh 87,796 |LLfzth 26,238 |HH{EET 65.76 |HEHXER| 37,106 |E=E™ 48,105 | AHET 11,848 |fB¥&[RTH 22,846 | KBrth 25456 | RI&TH 23,027
9| &VE=FETh 87,264 |#LiRTH 26,176 |EX[MmH 65.43 |[EILUTH 36,959 |F0FRLTH 47540 |EHT™ 11,843 |ZR&RTH 22,142 |HERHPXER| 25264 |FOFLTH 22,731
10| ;R 87217 |{EE™ 26,070 |EiI&H 65.03 |FETH 36,952 |[@UT 47,443 | BHEImARXER| 11,842 [Tt 21,924 FOFRLTH 25180 |fEET 22,383
11| =&k h 87,119 |RI&tH 25,550 |¥&th 6492 ZEEM 36511 |[LBT™ 46,954 &Rt 11,813 |&Rm 21,890 | RIGH 25,157 |$&RA™H 22,281
125%™ 87,021 |EUth 25505 |#LiETh 6422 =BT 36,156 |fEE™ 45536 |EtT 11,703 |IEETH 21,687 |&ULVE=FEH 25,032 |;E#ATH 22,242
13EMTH 86,801 |Hi¥&™H 25268 |IKET 63.64 |ELV=FETH 35,993 |;EtaTh 45470 ¥ I 11,697 | 21,687 |¥AIUTH 24,716 | ZEEMH 22,199
14| [LE™H 85,544 |EI&TH 24318 |dtAth 6290 |&iRth 35880 |&iRth 45175 | KZEm 11,653 |BEWH 21572 | BEHETH 24,663 |fHETH 22,180
1548HH 85266 |EERETH 24,090 |Ri#BT™H 62.86 fEETH 35202 |FEH 45151 |[RBTH 11553 |ELUm 21,230 |t 24613 |FEH 21,766
16 B4 85,242 |F0FxLH 23,883 |BEARTH 6283 | RIGmH 34,954 |JIli&TH 45,125 |HEHERET™ 11,465 |[RET 20,990 |fEET™ 24504 =BT 21,747
17 RFEHXER| 84923 | &LMvi=FTh 23,813 |F0Frth 61.40 FH{EERETH 34954 |EI&TH 45000 |t&ETH 11,334 |JIlI&TH 20,751 |Hit&™H 24,389 |;ETH 21,737
18| K& 84,899 |EEMATH 23670 |BREETH 60.94 |FriETh 34789 |IFETH 44616 |FETH 11,330 |ELuH 20,258 |&iRth 24067 |£iRTH 21,693
19| FEH 84,849 | EF¥rmh 23545 |SLV=FT 6052 |fEft™H 34591 | BT 44549 |IFEBTH 11,286 |;E#ATH 20,014 |#Fri\m™H 23,999 |Hi#BTH 21,650
20| lLURsTH 84,716 |IKETH 23515 |&HFH 60.46 |EIUTH 34459 |fE[TTH 44352 | )Ili&TH 10,989 |FEH 19,857 |£R™W 23876 |FriETH 21,031
21 #1rlth 84,424 |HFFTH 23489 |&iRt 60.07 |JIliETH 34,347 |iET 44041 |BETH 10,986 |lLAT 19,723 |;E#ATH 23493 |IKEBTH 21,012
22 fgB&Th 84,079 |dtAth 23223 |Ei&TH 59.97 |#&ETh 34,257 |¥EETH 43,654 |SULM=FT 10,961 |ERFEARXER 19,701 |#B#R[RTH 23489 |fBHTH 20,918
23| ¥ 84,046 | BAEET 23172 | Rt 59.94 | #UTh 33,784 |HEERXER| 43,183 |[Uth 10,802 |#&ETH 19,668 | )IlI&TH 23,358 |&UV=FEH 20,898
24 FERT™ 83,594 | XKBxth 23094 |#iTITH 59.88 |HiItE™H 33,743 |BEH 43068 |\#FhiE™ 10,790 |Friath 19,522 |f&HmH 23054 |[{EETH 20,590
25| )11 tH 83,039 |R&RTH 23011 [{4EE™W™ 59.04 |E¥Th 33,726 |#aluth 42795 |fEET™ 10698 |fEETH 19,379 |;Eth 22,968 |FHIERT 20,549
26 tEET 83,017 |REAKTH 22938 ERBEWM 58.63 |Etath 33473 |EUH 42427 luOth 10,398 |i#m 19,253 |#ETh 22922 |&¥th 20,397
27 | & 82,555 |&iRth 22879 |HFF™H 56.76 |;&TH 33,084 |#NiTTh 42305 |FHE™ 10,350 |=4%0 19,185 |#%REm™H 22,576 BRI 20,346
28|z B 81,732 |#&;ETH 22,182 | AEHEM™ 56.49 |IKETH 32,696 |SULVf-ET 42071 ;& 10,115 |&XULv=FH 19,031 |fiET™ 22520 |[ERBW™ 20,107
29 | fLiETH 81,381 | BH&H™ 22001 |BEH 55.67 |E¥[ETH 32,635 |#FhiETH 42058 & 10,061 |RI&™H 18,525 |db AT 22,336 |JI|ITH 20,011
30 AL 80,947 |fHFETH 21,908 | Xt 55.39 l&TH 32581 |[luOw 41,868 |FRiE™H 10,060 [LET 18,041 |ELUTH 22279 |HEHERXER| 19,943
31 BFFh 80,410 |{EETH 21,754 | XK:iEm 55.39 |&%0th 32309 ERBEW 41177 |EWTH 9,981 |fERE™H 17904 EERE™ 22,067 |BEH 19,802
22LETH 80,348 |FET™ 21,352 &R 55.20 |db AT 32,239 |HiIE™ 41,109 |t 9978 |JKETH 17,863 |&mH 22,023 |#EETH 19,779
B EET 79,663 | KiETH 21,222 |i#&tH 55.02 |f&HmH 32,187 |dtAhdTh 40,096 |dLAMTH 9903 |{EET™ 17,705 | RE¥H 21,823 |lLu@ath 19,593
4 FHT 79,647 |)I|&TH 21,175 | K&H 5439 |BEH 32087 | E¥FTH 39,909 |JKETH 9,901 |[dbAmth 17513 |FBfFmH 21,483 |EUmh 19,579
35/t i 79,408 fERE™H 21,080 & 5397 |FH#E™ 31,798 |REAKTH 39,658 |RIGTH 9,796 |ERiETH 17507 |FH& =T 21,448 | R® ™ 19,531
36 &R 79041 LB 21,049 |FHE™ 53.88 |lLOTh 31,753 |E&f@t™H 39552 |RF¥mh 9562 |FHNET 17475 |{k&™ 21,428 |dtAth 19,473
37 #iIh 78,817 HEANXER 20895 |EBT™ 5295 |#¥iITh 31519 |{&EE™H 39,488 |HI#B™H 9,354 | E¥Fh 17,413 |IEBTH 21,410 & 19,204
B ERET 78,657 =R 20,670 |f&f™H 5279 | RK¥mh 31,385 |#&HM™H 38,209 |#LiRH 9,351 |FEARTH 17,375 |luAt 21,355 |REARTH 19,148
39 &HATh 78,384 |fEETH 20,080 |[f#kATH 5268 |[ERET™ 30,980 |HFF™H 38,123 |FEF;m™ 9204 ERET 17,353 |BEAT 21,182 |HF™H 19,024
40| FE=EH 78,010 [fliETH 19877 |#Fm™ 52.46 |ERFFTH 30,566 |{liET™ 38,096 |HfHFH 9,159 |HitE™H 16,806 |EHTH 21,100 | K&Hh 18,612
41;EH 77,877 ¥ ITH 19,607 |#&ETH 5221 |{&E™™H 30417 |B&T™H 38,053 |fEFHTH 9,134 |#uth 16,775 |f2@&Th 21,019 |BX[mh 18,550
42 IRETH 77,652 ;& 19,602 |[#ALLUTH 5198 | KHh 29822 |FEET™ 37219 |HFFH 9082 | HFHH 16,492 | KHpth 20,930 |=GTH 18,522
43 FEEARTH 76,293 |FAHEHTH 19,327 |[GETH 5197 @B 29814 |Ei&™H 37,078 |#Auth 9,069 |#L1RH 16,406 | B%[ETH 20,732 |#LiRH 17,897
44| E5TH 76,190 E%0tH 19,279 |FEm 51.65 |BEATH 29,801 | K&H 36,974 |lUFzTh 9,009 |EEX[TH 16,289 | =40TH 20,466 |FE#ETH 17,855
45 ¥ it 76,077 | KHpth 18,780 |fEETH 51.26 |#LiRtH 29,601 |BX[TH 36,293 |{EE™ 8,989 |fEHTM™H 16,210 |EI&H 20,389 |#¥AiTTH 17,675
46| BELH 76,013 |F&#E™ 18,576 |=H0TH 51.23 |EE[th 29,403 |#LigEtH 36,289 ERET™ 8913 | K&Hm 16,101 |ALIRTH 20,249 |&E%0th 17,611
A7{EEB™H 75,891 |JKETH 18,487 |JIlI&tH 5119 |FE;EmT 29,205 |[JKET™ 35834 | K&Hth 8,893 |ufzTh 16,090 |BRZE;ET™ 20,002 |FkATH 17,607
48 ‘=& TH 75,568 |[@LTH 18,105 R 50.17 |Ei&H 28,895 |BREmRTH 35009 BT 8,795 |El&FmH 16,057 |#MITh 19,822 [{8Em™ 17,260
49| F#kATH 74,567 ¥ UTH 17,920 |5t 4950 |JKPETH 28831 |BH#H™ 34816 |BERATTH 8,671 |{8Em 15,959 |&F#&HT 19,637 |BRZE@™H 16,825
50(lLAT 73,021 |EETH 17,777 KPPt 4854 |EHEH™H 28,797 |®HET™ 34376 |REARTH 8,620 |HFFTH 15,893 |JKFETH 18,929 |[HHF™ 16,821
51 KBt 72,563 | ST 16,849 |EHIEABX AR 4794 ||uFzth 27,320 2B 33,693 |'BIGTH 8,506 |FRF/™H 15,653 |fAEH™ 18,393 |/KF ™ 16,517
52| Knmh 71,389 L@t 16,322 |luATH 46.60 |FMATH 26,488 |lLUzTH 32,842 |FAT 8,095 |FMATH 15,205 |WUfgTh 18,312 |lUfzTh 15,643
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02E 20,666 |2[E 34,031 |&F 3,687 |[2F 10,106 |£H 2,255 |&[F 2944 |£H 1449 |2F 3,168 | 2[E 4,562
1|z th 25,789 |BERATH 40,047 |E#TH 6,243 |Eiath 17,832 |#\HE™™ 4022 |lLfgth 5800 |FHIEHBXER 1,857 |&LMV=FEmH 4196 |BEMETH 6,628
2 EXRETH 24,600 |LLfzTh 39277 | K™ 5068 |K:iETh 13211 |lLUfgmh 3,643 |FkEATH 5526 |l 1,772 |JIlI&tH 4052 |t 6,150
3 B/AHM 24471 ST 39,193 | AHET™ 4641 3R 13,129 |S#th 3561 REH 4641 |SLN=FH 1,730 |#&ET™ 3995 F&HH 6,053
4\ FEAT™H 24,038 | KBt 38,588 |RitE™ 4635 &R 12,879 |Fiat 3,058 |#FiAT™ 4434 |¥EETH 1,711 | AR AR 3984 |®#ATH 5,735
5 $imm™ 23512 |&HHH 38,002 |[lLfzTH 4,616 |F1FxLTH 12445 | ELlUm 2,998 | Etth 4,245 |$riath 1,622 |fAHE[R™ 3,763 |&iR™ 5,462
6 KB 23224 |fBIE[RTH 37871 |=#th 4383 | KFrth 12,054 |E¥H 2,894 |BE[™TH 4076 |FEmH 1,599 |FEHh 3,726 |#FiEth 5,380
7f2B&m™ 23,164 |#riET™H 37832 |HFFW™H 4231 P 11,973 |[#AIT 2886 |EH#HH 3886 |AEEM 1,578 | E¥mH 3583 |EUmh 5,354
8| ELUh 22973 | K 37,733 | XK:iZEMTH 4190 |#¥iIvh 11,763 =B 2,766 |f2BTH 3874 | E¥Hmh 1577 |#hiBtH 3500 | EEFm™ 5,245
9 &t 22506 | K;ETH 37,228 |#iITH 4184 |BHEWH 11,703 |f2ETH 2,757 |EutHh 3,727 |XKiZETH 1,529 |FHE™ 3477 |ZEEM™ 5,220
10L& 22,062 |HIiETH 37,154 3Rt 4184 Z=BwW 11,647 | 2,686 |HEETH 3,662 |[i&T 1,526 | ALIRTH 3,469 |F:MEth 5212
1T 21,996 |3Eth 36,994 |&iRth 4016 | E¥mH 11,587 |f@Hm 2,581 |git&™H 3420 |[t2BTH 1,521 |BERE™ 3441 L& 5,132
12 2HEM 21579 |EUtH 36,957 |fHFET™ 4000 [T 11,429 |fEET™ 2571 |#ITH 3,406 |&iRtH 1,511 |BiE™ 3,399 |;E#¥ATH 5,034
13|€R™T 21533 ¥ ITH 36,110 |[f8Hm™ 3910 |HiI¥E™ 11,351 |F&=Em™H 2,539 |fRIEETH 3,367 |WufzthH 1,488 &% 3,343 |FEEm™H 5,012
14| KB 21,249 | SLV=FEH 35,779 | KBt 3860 RHET 11,292 |FH™ 2490 FEETH 3,360 |#ATTh 1,485 [ AHEM 3276 |HRFT™ 4,960
15|&L=F 21,242 MLETH 35548 |SLVi=FTH 3843 |E&ITH 11,234 |#&ET™H 2451 |&LVi=FTH 3283 |F#HETH 1484 &t 3256 |FRIEHRXER 4,890
16| FH#=mH 21,065 |#LiRtH 35515 |EUmH 3,821 |lufzth 10,921 |JII&tH 2,446 | fLiRETH 3,199 |FRMTH 1,484 | KiETh 3236 |fEE™ 4,840
17115 H 21,036 |[LETH 35494 |luOw 3,799 |ELUth 10,872 |JKFETH 2,408 |JIlIGTH 3,136 |REKRTH 1,480 |ZRE&RTH 3232 |&LVf=FMH 4,794
18| fR#R[RTH 21,018 |#@ATH 35414 S50t 3,712 &R 10,773 |ESLVf=FmH 2,363 |IFETH 3,134 |fAER™ 1477 |[LET™ 3220 |#AITH 4,768
19| KEH 20,884 |&RTH 34942 |fH#EET™H 3,705 |#AlUTh 10,770 [{f&&t™ 2,342 |f@FH™ 3,124 |HiI#E™H 1,472 |#¥ItH 3216 |#&ET™ 4,732
20 R FTH 20,790 | BEHETH 34559 |®FHET 3674 |fEET 10,770 |#H¥E[RT™ 2,308 |[{iET 2989 |[LBT™ 1,449 |f2ETH 3213 |HitB™™H 4,664
21| BiTAE 20,743 |#EETH 34496 |FHEE™ 3670 |lLOTH 10,692 |Hi¥ET™ 2,249 |;E¥ATH 2,935 |kLiRth 1,446 |HEARTH 3,196 |F&#E™ 4,644
22 R 20,629 ;E#ATH 34452 =BT 3,663 |;ET 10,605 |f#F T 2,249 |dbhTh 2935 |HfF™H 1,423 |E¥ATH 3,152 |IfETH 4575
23Rt 20591 |BEH 34,438 |#alluth 3,606 ERRFTH 10,584 |E%RE™H 2,246 |;EmH 2,934 |#aluth 1420 |&RH 3120 |FETH 4,536
24\ [LET™H 20,491 |F0druth 34270 |FEmwH 3593 |[EBTh 10429 |FREEHEBXER 2,245 |JKETH 2,903 | 1,411 | KR 3113 |[EBT 4471
25 ERAHNXER 20480 H=RtH 33921 |IKETH 3576 |fH{ERETH 10,290 |#AlUTh 2207 |ERET™ 2880 |[ERBEMW™ 1,410 |FBRFmH 3,098 |HHHEETH 4,435
26 B 20438 BT 33907 |HEHFT 3575 |EWLZ=FH 10,132 |&iR 2199 {EETH 2,856 |t2fETH 1,403 |f2RETH 3,051 |fLtRmH 4417
27| FEH 20,334 |JIlGTH 33,756 &t 3569 |ETh 10024 |[LE&T™ 2,196 |Ri&mH 2847 |IKEETH 1,397 |Euth 3,037 |KETH 4,409
28 tEETH 20,277 |FEETH 33,729 |EX[Mm™H 3560 |BE[tH 9,807 |FEm 2141 | FEH 2818 |FHE&RT™H 1,396 |/KFT 3,015 |JIli&vh 4,408
29 ZEBT 20,065 |fHETH 33,701 |fEE™W™ 3538 |fEE™ 9,763 |#L1RH 2,139 |fEET™ 2,796 |;E¥aTh 1,387 |&F&HE™ 3013 |f&H™™H 4,406
30 #L1RH 19,971 |EH 33526 |/KET™ 3519 |IBEETH 9,690 ;Eth 2,093 |&iRth 2790 |ELluth 1,384 | Kyt 3,006 |[ELT 4,350
31 AT 19,918 |&jRTH 33,307 |E#TH 3,490 |#riEBTH 9,559 |FHE&RTH 2083 |[LET™ 2,769 =BT 1,361 |EHTTH 3,006 |Ei&m 4,315
32 ;EMTH 19,913 |FfFmH 33,212 )l 3486 |FET™ 9,426 |;E¥ATH 2079 =Bt 2,764 |BE[TH 1,357 =B 2978 | KiZFEM 4,289
33| E40Th 19,714 |FEmH 33,160 |HIEABXER 3450 |[&F&HH 9,168 |BHH 2,050 |Fm#TH 2,729 |RI&H 1,342 |[ERBEM™ 2,969 |HERTH 4,280
34| LUth 19,707 |IEET™ 32952 |Ei&TH 3435 |[liETh 9,107 [iETH 2,049 | KiZETH 2,653 | Kot 1,328 |lLUfzTh 2942 |METH 4,275
35 AR 19,572 |;&th 32,112 |BE™ 3413 |F#E™ 9038 EREM 2,046 |EHH 2,653 |JKET™ 1,326 | K& 2,924 | KBxth 4,260
36 fEFHH 19507 |luAH 31,951 |#&[@™H 3412 |®ET 8,937 |XK:iETH 2,000 |E¥RETH 2577 |dLATH 1,316 | #AUH 2874 |;EMH 4,243
37/ lu@th 19,468 |#ALTH 31,758 |[LBT™ 3,404 |Eil&TH 8920 |AHET™ 1,979 LAt 2534 |BEH 1,309 |EUmH 2,836 |t 4,219
38 KFTH 19,419 | E%RE™H 31,677 |EWth 3,403 |JKET 8,889 |Ei&™H 1,972 |BRFmH 2503 |fHETH 1,298 |{&&Em™ 2836 =B 4217
39| I ETH 19,390 |HREABXER| 31,560 |[{uETH 3,367 |JIlI&TH 8,858 |lLOTH 1,946 |BREBXER 2,423 |iETH 1,296 |FvAT 2,828 |#MLUTH 4,172
40 AU 19,037 | R 31,418 |F0Fr™h 333 |EREM™ 8,800 |IKETH 1,939 |t 2398 |EHH 1,292 | dL A 2,801 |F1FxiuTh 3,942
41;EH 18,965 |fEETH 30,888 BB 3,314 |#L1RTH 8,770 | XFxth 1,938 | #AlUTH 2,345 |R#kATH 1,287 |iRth 2,794 |BHEtH 3,940
42| RI&™H 18,957 ERETH 30,814 |#&ETH 3277 [{EET™H 8,639 |REARTH 1,929 |ZHEE™H 2,315 | KB 1284 |IEETH 2,777 &t 3,930
43{4EE™ 18,709 |dtAuymth 30,401 |#Lw®Evh 3,268 |ERMETH 8,569 |ERfFTH 1,901 |REART 2,298 |Ei&TH 1,249 |iEtH 2,710 |f&fmh 3,673
44 BB 18502 |JKFETH 30,229 |db AT 3251 |HER#HRXER 8,347 |t 1,823 | KR 2209 |[{EEW™ 1,235 |#FrUm 2678 |EBRE™ 3,633
45 FERLT™H 18,402 S4%0th 30,129 |#FiB™H 3,050 |dthth 8,267 |dLAINTH 1,795 |FREmH 2,183 |#Rm 1,231 |=&H 2671 |lLOTh 3,618
46 b th 18,008 |{&&T 29577 |El&H 2923 |f@FH™ 8,262 |[ELuTH 1,780 |F0¥rUTH 2095 (WO 1,229 | BRE@TH 2,653 |Ei&TH 3,415
47| BeARTh 18,003 |BEAT 29,145 [ERBW™ 2905 | K&Hth 8,174 |F0Fruth 1,733 |f2RET™H 2078 |E&1TH 1,216 [Pt 2641 |fEETH 3,391
48 ERET™ 17,934 ‘=& 28,640 | KHth 2,803 |#&EETH 8,101 |t 1,705 |3Rth 2052 |t 1,209 |[lhAT 2437 |[deAnTh 3,381
49| = FH 17,622 | KHoth 28,629 |[{EEW™ 2,789 | RIGm™H 7834 |&%0tHh 1,600 |[fETH 2041 |$BH™H 1,193 |5 2278 |BEARTH 3,340
50 K&t 17,489 tER@T™H 28,246 |fRRE™H 2,691 |f&ftH 7620 |EigTH 1,545 | K&H 1,955 |fEET™ 1,152 |&%0H 2232 | KHh 3,279
51|f&fE 17,405 FRF;mh 27,298 |REARTH 2,565 |BEARTH 7613 |FRE;ETh 1,500 |&%0H 1,931 | BBF;™ 1,128 |fEET™ 2,230 &I 3,249
52| ARE@H 16,291 |f8Hm™ 26,932 |FRE;™H 1,962 |BRERTH 4904 |K&HtH 1,387 | =& 1,810 |F0grium 1,121 |f@HtH 2118 |[{EE™™H 3,242
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02E 8,360 |2[E 5683 |£E 4300 £H 2315 |2F 2,792 |&F 7115 | 2E 675 |[2F 5847 |2[E 8,227
112%™ 12,022 |&EFH™ 8012 | &E#HFH 6,169 |BHH 3534 |BE™H 4399 |#EET 1,055 |#&ETh 1,029 |ELUh 7,139 3Rth 9,963
2|l 11,171 |$2E&T 7450 & 5573 |BEARTH 3039 |{&E™H 3935 |feBTh 1,005 |#B#&E[RT 1,003 | ZHE™ 7,132 [ AEEM 9,831
I BHM 11,118 |BE@E™ 7,286 |EEX[TH 5510 {&&TH 3,035 |REARTH 3,857 |Jlli&tH 291 |fBE™ 1,000 |&RH 6,925 |tHHEET 9,715
4\ FRERTH 10,142 [hETH 7210 |#Fhi\BT™ 5354 |#\Ith 2919 |B&0h 3530 HEANRXER 979 |FEH 991 | K:#EMH 6841 |EBm™ 9,655
5 $imm™ 9,889 |FiETh 7190 |fEETH 5308 |E&0th 2,900 |#¥AITH 3,469 |fHFTH 929 |JII&TH 957 ERW 6,704 |K:EM 9,642
6 L& 9,661 |LLufizth 6,802 | XFxth 5165 | K%t 2,713 |K&HtH 3421 |F&[™™H 926 |HIRHBXER 955 |FHRETH 6571 |ELth 9,391
7182 EEH 9,622 | KFrth 6,665 |FLIRTH 5149 |[LE™ 2,685 |EIETH 3310 |FEm 922 E¥FTH 946 |JIlIgTH 6,481 |&iRt 9,332
8|RItE™ 9,479 |®#XHETH 6,647 |FAHETH 5032 |t 2,665 |#FhiaT™ 3294 |fHFERET 908 |BERETH 941 |HEEERXER 6,443 |iEm 9,250
9|FAT™H 9,039 |E%0th 6,568 |LUFzTH 4972 |luOw 2,661 | KBt 3226 E¥mh 858 |ELVf=Fm 912 |#B#ERE™TH 6,395 | KEmh 9,179
10 KEH 9,004 |EUth 6,371 |F&EH 4935 | KBrth 2,647 ¥R 3219 |&LVv=FmH 857 |EE[mh 888 |##ETh 6,300 |;E#ATH 9,140
11 HEET 8,939 |FEETH 5981 |=x0th 4844 |$riETh 2624 |EHT 3,201 |BEMTH 840 |FH#RETH 790 |HE&ERTH 6,242 |FEM™H 9,087
12| K th 8,870 |#LiRtH 5954 |ZE LUt 4752 &R 2597 |f&[T™H 3,122 |lu¥th 811 |ufzvh 781 ;& 6,227 |BEH 8,688
13| BT 8,838 |t 5946 |RI&TH 4738 At AT 2596 |[dbAdNT 3121 |F#ET 801 |fHFET™ 744 | EWNFETH 6,217 |t&ET 8,685
14| B 8,793 |fEIERTH 5939 |t 4603 |Ei&TH 2544 |EETH 3,093 &t 763 {lE™H 726 |3Rth 6,213 |#LiRTH 8,620
15 4L H 8,732 |MEth 5897 |FEERTH 4573 | KiE 2542 |EUTH 3087 AWmEMT 733 |BHET 708 | FEH 6211 |F#EH 8,602
16| =L=FH 8,651 |FRFT™ 5781 |[LE&T™H 4469 |ElUTH 2529 |luAavh 3076 | K:ETH 721 KB 630 |FELuth 6,176 |SLVf=FTHh 8,563
17/ ;BT 8,643 BHET™ 5,756 | LLITH 4438 |HEHM 2501 |ERBM 3,018 i#Eh 718 | fLWkmH 628 |IKET 6,130 |f&fEmH 8,475
18R 8,628 |lLOTh 5,743 |FIFxLth 4,307 |JIliETH 2,445 |#alumh 2,965 |IEETH 685 |XK:iET 624 |fAFTH 5999 |REARTH 8,418
19| # 0k L H 8,616 |FNFxuth 5712 |{&&8H 4298 |FH#RTH 2416 | Ki#EMH 2943 =BT 675 |[LE™ 621 |;E¥ATH 5978 |IEETH 8,404
20| &%t 8594 |[LBT™ 5697 |EBHfFTH 4289 & 2389 | &¥TH 2880 |JKET™ 658 |IRETH 617 |f@REH 5965 | KBt 8,394
21 |fET 8564 | EKET 5646 |X:;ETH 4266 |[LUTH 2,379 |l 2,865 |f&ftH 652 | K&Hth 592 |F%[TH 5944 |E%[ETh 8,370
22 NI 8,563 |[{EET 5635 |BHEH 4,253 |\#alum 2,365 |[ELuTh 2822 |&iRth 632 |dbAmth 586 |db AT 5,939 |JIligTh 8,337
23| FEH 8,555 |KiETh 5613 |IKETH 4172 ERBEW 2,355 |EE[TH 2,797 |#LiRTH 628 =B 569 |f@FHmH 5919 | RiI&TH 8,270
24 &R 8,554 |RI&mH 5577 |R¥H 4165 |iZEm 2,299 |lUfzth 2,782 At hth 628 |#Fria™ 556 |EEFmh 5890 |HREABXER 8,127
25| @Bt 8,470 |JIlIGTH 5486 |FRfET™ 4160 |EiI&tH 2296 |G 2,776 |R&RTH 605 |BE&HM 550 |fEETH 5,880 |RfELLTH 8,064
26 B FFTH 8,389 |&iRth 5424 |RiItET™H 4130 |SLVf=FT 2294 |{2ET™H 2,769 | KFrth 595 |f&fEmh 546 |[LET™ 5869 |FRERTH 8,041
27| R AR X &R 8,372 |JkKFETH 5405 |&iRt 4113 &Rt 2290 |ELV=FETH 2,759 |BEARTH 594 |RiItETH 543 | KBrth 5857 |#AITH 8,007
28 =BT 8,351 | K&Hh 5370 |JKETH 4097 |fHFT™ 2281 |[LB™™ 2,739 |[LBET™ 588 |BEATH 543 |[{l&ETH 5828 |K&Hth 7,975
29 [LET 8,338 |FEm 5362 |[LLOTh 4093 |lUfzth 2279 |EBTWH 2,720 |®#HETH 588 |FKHETH 533 |JKFT™ 5827 |{EETH 7,974
30 AT 8,296 |SL\f=Fh 5360 | Ko 4091 |f8ET™ 2276 ;&M 2,711 |8t 588 |jETh 528 |#riam™ 5,780 |#Fridam™ 7,973
31 ¥ UTh 8,294 |E%[TH 5347 [|;E¥ATH 4050 E=BwW 2,264 |*LiEvH 2,705 |gii#ETH 581 | KBt 510 |BEuh 5711 |db v 7,891
32 KiETh 8,195 |#\iIth 5320 |FEH 4033 ATEM™ 2,258 |fEET™ 2,665 |;E¥ATH 579 |#AUH 508 |#AiTTh 5694 |HiI#BT™H 7,867
33|FHREH 8,156 fEETH 5216 |dbfumm 4,031 |tEHE[ETH 2247 |&iRH 2,649 |BFFTH 575 |E#ATH 507 | FREF@th 5671 KB 7,845
34|JII&TH 7,854 |;E¥ATH 5,183 |JIIGTH 3,998 |EE[th 2242 |IKETH 2,649 | Kot 550 |[E LT 506 REIRET™ 5653 |EERBET™ 7,831
35 RIG™H 7,793 HI#B™H 5181 |;&tH 3962 |FEM 2,181 |fET™ 2,635 |[EHHH 548 |BRFH 499 |fLWEvh 5,633 |FIFrLLTH 7,770
36 ;&M 7696 | BEETH 5169 |fEETH 3,949 |;E¥ATH 2,161 |;E¥aTh 2,632 K&t 533 |IRth 481 |H[F™ 5565 |lLOTh 7,746
37 B 7602 Z=RBTth 5119 |#TIHh 3936 |fEET™ 2,155 |HHEE™ 2,630 3EmH 524 &Rt 477 |REKRT 5551 |f#FT™H 7,702
38|/kKFh 7559 BEIRE™ 5,097 |#uth 3935 |#EETh 2,152 |F0gruh 2599 B 517 |#0Fruth 450 |HIfET™H 5488 |[LET 7,687
39 [T 7448 |IKETH 5091 |Ei&TH 3935 |f&HTH 2127 |BAEHEM 2582 |[ERET™ 489 ERIRE™ 441 |luOvh 5479 |[l&Th 7,644
40 &R 7,345 |HEARTH 5056 |[Z=BTH 3,928 |IKETH 2,127 |#HETH 2,545 |[EUH 488 |ElUT 439 | El&mm 5439 |BRAFTH 7,573
A1 ERET 7149 |dEAMTh 5042 |[ELvi=FEM 3,894 |#LiRTH 2,120 |f&FHm™H 2499 |FFrUTH 479 ST 438 |l 5369 |feBETh 7,548
42| Eith 7,089 | EHIR#HNXER 5010 |EIRET 3,880 |#HEATH 2087 |FEwW 2470 |fEETH 478 | RI&™H 431 ¥ 5335 |=iath 7,535
43/ 1UAH 7,058 ‘E&TH 4976 |ZoEM 3,843 |#nFxuth 2,080 |#&ETh 2,400 |#AUTh 478 LA™ 422 St 5303 |H&RTH 7,490
a4 |/dc i h 6,953 |f&FHTH 4918 |REKTH 3843 |HREHXER 2,049 |Ri#ETH 2,389 LAt 472 |fEET™ 420 Ko 5297 |#Auth 7,474
45 BT 6,855 |H&ETH 4899 |#ETh 3,776 |[Ml&ETH 2014 |HEEXER 2,381 |&%0th 468 |[{tEET™ 419 2B 5031 |UFztH 7,328
46 | & ™ 6,733 |fETH 4,886 |Stath 3,726 |ERiTh 2003 |{iE™™ 2,376 |Ei&TH 460 |S4%0th 415 |{£Emwm 5011 |[{£Em™ 7,213
47| fB8H™H 6,687 |#lth 4790 |fHFETH 3,718 |Hii#E™H 1,962 | R¥mH 2,321 | =it 436 |FE&RTH 409 FOFIT™H 4948 |REMETH 7,148
48 1E&E™H 6,583 ;&M 4747 |fBFHT™H 3617 |F&#ETH 1,946 |F#RE™ 2,255 |BELTtH 436 |El&FTH 388 & 4888 |f@FHTH 7,051
49 |BERTH 6,189 |S#ith 4,737 |{&[H 3553 | R 1,937 |/KFm™ 2,206 |#NITH 433 |¥Ivh 382 |EE[th 4882 =&t 7,014
50 K&t 6,002 |fEfth 4,684 |FREEXER 3542 EBRFTH 1,921 |FHEM™ 2,205 {EETH 430 |fBHT™ 352 |El&TH 4,732 |[FMETH 6,692
51| 5% 5909 |FREETH 4575 |FH&RT™H 3413 |#Emm™ 1,859 |Effm 2095 |fEHT™ 372 | EETh 338 |R#xETH 4713 |5t 6,530
52| B 5 TH 5809 |R&RTH 4409 |FRE;EmH 3,338 |JKET 1,693 |BRZET™ 2,051 |FEF;ET 254 |#RERTH 234 |EHH 4379 |E&HFT 5,868
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02E 651 |2[E 2,089 |&[F 1,703 |£H 2,152 |&[F 3,493 |2F 3,960
1 R¥&h 941 EFmh 3256 |ELUmh 2999 |£Rt 3212 |ZEEM™ 4506 |KiEmWH 5,353
2;EM 849 |ZEmh 2,692 |&iRt 2898 |ELUmh 2959 | XKiZEMW 4395 AHET™ 4,939
3 B 767 |BEATH 2,557 |fBH™ 2,869 |FiETH 2,930 |JIligTH 4120 &Rt 4,872
4 FZBH 760 |EETH 2476 |#FhiET™ 2,256 |f&FHT™H 2,779 |#ETh 4107 |=BW 4,772
5@t 742 E=Bih 2,465 |IKETH 2,058 |FEt 2,698 |HEERXER 4068 |#Em 4,731
6 | BB 736 | Ko 2,380 |[JKETH 2051 |t 2670 |=BH 4053 |tHEET™H 4,725
U=l 726 |;E¥ATH 2379 | BAEEM 2011 ;&M 2635 |FHETH 3,989 |EtATH 4,338
8| REARTH 711 |tEEES 2,349 [T 1,912 |tB¥E[R™H 2,632 |BRERTH 3981 |ARE;E™ 4,312
NI 710 |FEh 2,349 |FEETTH 1,896 | R¥m 2,601 | SLV=FH 3971 |E8R™H 4,297
10| FEH 695 LLATH 2,307 |FH&RTH 1,895 |ZHEEM 2601 |[AE{EETH 3,948 |&LV=FETH 4,282
11 |R&kmH 692 |[LETH 2,301 | ERBTH 1,891 WU 2441 |fETH 3,864 |f&[TH 4,275
12|48 ™ 691 |IKEETH 2,270 |BFFH 1,875 |J)KET 2,423 R 3,841 |#LMRtH 4,257
IRIF= VNG 691 |i&th 2,262 |lLfzThH 1,853 |#LiRTH 2,386 |FEM™ 3,818 |JllitH 4,254
14 ;E¥TH 691 |&LV=FH 2,187 |R¥H 1,851 | ZBh 2351 |fEET™ 3,783 |[ELLTH 4,253
15| F# =™ 687 |HitETH 2,147 |HEHARXER 1,802 |IKET 2,342 |Euth 3,770 Ei&™H 4,239
16 fEE™™H 686 |=iATH 2,135 |Elh 1,797 |JIl&tH 2311 [uiE™ 3,759 | K&Hth 4,225
17| K5 685 |[MLUTH 2,122 | Ki#EH 1,789 |#&ETH 2283 |;E¥ATH 3,724 |Elumh 4,189
18 HI4E&™ 683 | R 2,115 | fEHEETT 1,784 |RFAXER 2273 | KBt 3693 |FEMH 4,186
198 668 |fBETh 2112 [ dehmh 1,777 |F#HE™H 2,240 |f2fETH 3684 FHET 4177
20 fEHEET 663 | KiETH 2,110 |3Rth 1,775 | E¥ATH 2208 |[LBT™H 3670 |;ETH 4,128
21\ KiEH 657 |&iRth 2,088 |JIlGTH 1,737 |&WN=Fmh 2,187 |FRE#&R™H 3,655 |HEmARXER 4,113
22| #ETH 654 W ITh 2,074 |B¢RE™H 1,709 | KFrth 2185 EREW™ 3597 | KBt 4,102
23 B¥E™H 646 |fEETH 2072 |FEH 1,698 [iETH 2,166 |FEMET™H 3589 |fEET 4,095
24 HFET™H 634 |fHETH 2,066 |SLV=FmH 1,631 |ERE™ 2,161 |[dL Nt 3556 |#NiITth 4,025
25 Ri&™H 631 | #uh 1,999 |BHEH 1,626 |FRET™ 2145 |Elumh 3534 |£Rt 4,011
26 |J1|I&Th 623 |{E[ETH 1,981 |ALIETH 1,608 |FRRF™ 2,136 |#TTH 3512 |[ERE™ 3,993
27 &LV =FT 614 |FRRE™H 1,972 |#EmH 1,597 g™ 2,113 |REKT™ 3471 |BEKRTH 3,982
28| B HET 614 |#LiRh 1,967 [Tt 1,591 BT 2,109 [;#M 3,466 |METH 3,885
29| &R 611 |F&#E™ 1,959 |[f2RmH 1,590 | KiEMH 2092 |K&HtH 3436 |[LBTH 3,837
30 AL 610 &R 1,958 |FnFrluth 1,577 AL Amth 2,025 |#LiEvh 3431 |BfFH 3,817
31| Kirh 607 |BEET 1,940 [E¥ATH 1,563 | F0FrUTH 1,984 |ESH0H 3421 |JKETH 3,800
32 B[ 607 |=i&th 1,939 |Ri&m 1,560 |F&RTH 1,976 |&Rth 3416 |[flET™ 3,795
33 B 606 |FkATH 1,927 | KR 1,556 |f2&m 1,905 |gitE™ 3,403 |H#TH 3,779
34/dL A 605 | KBRTH 1,924 |#luth 1541 | 1,867 |[lLAT 3,395 |&%nth 3,778
35|lLUfsTh 598 |JIligTH 1,922 |5 1,511 |f8REH 1,844 |IXET 3,337 [ dthmth 3,767
36 |3 597 |¥&ETh 1,894 |[ERET™ 1,503 |[#FTH 1,823 |EWTTH 3,319 |BHh 3,756
37|#ETh 596 BT 1,888 |#Fm™ 1,500 |BEAT 1,809 | R 3,248 |IFETH 3,751
38 |ALIETH 594 |&4%0th 1,885 [LET 1,489 |MMTTh 1,782 |/KET 3,190 |HiI¥E™ 3,749
39 ¥\ ITh 592 EIRBE™™ 1,872 |{&&m™ 1,483 |#ALUTH 1,778 |BFF 3,169 |FnFxiLTH 3,724
40| Z B TH 591 |JKPETH 1,865 |[GET 1,473 |fAET™ 1,725 |5 3,101 |{£&m™ 3,686
41 kPt 587 |{EE™™H 1,836 |fEE™ 1,411 |FEth 1,709 | R¥mW 3098 |fBB™H 3,638
42 | Fimmh 584 |#riEaTh 1,808 |HitET™ 1,403 [{EE™ 1,672 |#lUh 3084 |lLOTH 3,631
43|f@H™H 583 |dtAmth 1,803 |[BEATH 1,369 | ST 1,664 |{E&T™ 3014 |Ei&H 3,589
a4 & 580 |H#H™ 1,801 |f2ETH 1,349 | R 1,519 {&&w 2,998 |#lth 3,556
45 R R AR &R 574 L& 1,791 |[luAw 1,342 |[LET 1,498 |RERET™ 2956 |Etath 3,537
46 | F0Fr LT 566 |FOFxLTH 1,762 | 1,319 | Kah 1,481 |$¥iamh 2,939 |EE[th 3,476
47| EH™ 559 |Lfizth 1,748 |RKE™ 1,244 |FAEHT™ 1,469 =& 2938 |FriBth 3,376
48| EIRET 554 |BRZERTH 1,728 |E&mH 1,204 LAt 1,463 |lLUfgTh 2918 | K 3,341
49| B 5™ 540 |Emh 1,710 |&H#&FTH 1,189 |&H#HF™ 1,459 |®AETH 2815 |lUfsT™H 3,128
50 & 530 |EImABXER 1,696 |BRZE@TH 1,182 | =& 1,378 | F1grum 2,806 |FKETH 3,108
51 B fFmh 521 |f&@Hh 1,602 | K& 1,176 | BRE;RTH 1,328 |F#&™ 2631 |&EHH 2,911
52| ARE@H 508 |HfFTH 1,525 |SH0T™H 927 |&%0mh 1,054 |f@HTh 2467 |f&HT™H 2,796
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